



Gravity from a particle physics perspective

-other enteractions from gauging symmetries

-leto do the same for gravity

-de-emphasis technology $V(x) = -G \underbrace{M}_{N} \underbrace{M}_{2}$ Hugge $\mathcal{I} = -M \left(1 + \frac{H}{N}\right) \underbrace{V}_{2} \underbrace{V}_{1}$ -i $\underbrace{M}_{N} = -i \underbrace{M}_{N} \underbrace{A}_{2}^{2} - \underbrace{M}_{N}^{2} \left(-i \underbrace{M}_{N}\right)$ \underbrace{K}_{N} - $\underbrace{M}_{N} = -i \underbrace{M}_{N} \underbrace{M}_{N} \underbrace{M}_{N} \underbrace{M}_{N} \underbrace{M}_{N} = 0$ $\underbrace{K}_{N} = -i \underbrace{M}_{N} \underbrace{M}_{N} \underbrace{M}_{N} \underbrace{M}_{N} = 0$

Docant Work
1) Mg << Mp = <p +="" 1)="" 3)="" and="" b.="" d'="" i<="" mata="" mn="" th="" tin="" tm(p)="<P/BF"></p>
30 MeV
2) Bending energies
2_
-

Equiv. Prine.

F=Mgg=Mga ingredient

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

[32]

Energy + Morrowthin $T_{mN} = E + P \text{ tensor}$ $H = \int d^3x \, T_{i,0} \qquad P_n = \int d^3x \, T_{o,n}$ $\int_{m}^{n} T_{mN} = 0$ $E_{i,p} \text{ associated with } t_{i,p} \text{ translations}$ $Noether = T_{mn} = \frac{\partial J}{\partial (2mb)} \, d_{i} t_{i} - \gamma_{mn} \, d_{i}$ $Example \, \mathcal{L} = \frac{1}{2} \left(2mb \, d_{i} t_{i} - m^{2} t_{i}^{2} \right)$ $T_{mn} = \partial_{m} t_{i} \partial_{m} t_{i} - m^{2} t_{i}^{2}$ $T_{mn} = \partial_{m} t_{i} \partial_{m} t_{i} - m^{2} t_{i}^{2}$

To get a source?

Gauge theories current as source

global $\Psi \to e^{-i}\theta \Psi \implies J_n = \Psi \delta_n \Psi$ gauge $\Psi \to e^{-i}\theta(x)\Psi$ $D_n \Psi = (J_n + ieA_n)\Psi \to e^{-i}\theta(x)D_n\Psi$ $J = \Psi(iV - m)\Psi \to ---- eA_n\Psi \Psi \gamma^n \Psi$ also $[D_n, D_n]\Psi = ieF_n \Psi \longrightarrow J_n = e\Psi \delta_n \Psi$

Non Abehan $U = \exp(i \alpha^{\alpha} \lambda^{q})$ $V \rightarrow U V$ $V \rightarrow U D_{\alpha} V$ $V \rightarrow U D_{$

Joeal t x bransformations $x^{m} - y \times^{m} + q^{m}(x) = x^{m}$ $dx^{m} = \Lambda^{m}, dx^{n} = x^{m}$ New field $dx^{n} - g_{n}(x) dx^{n} dx^{n} = g'_{n}(x') dx'^{n} dx'^{n}$ $g'_{n} + q^{m}(x) - q_{n}(x') dx'^{n} dx'$ $g'_{n} + q_{n}(x') - q_{n}(x') dx'^{n} dx'$ $g'_{n} - q_{n}(x') - q_{n}(x') dx'^{n} dx'$ $g'_{n} - q_{n}(x') - q_{n}(x') dx'^{n} dx'$

Immediate success: Two = source

$$S = \int d^{4}x \, \Gamma_{5} \, \frac{1}{2} \left\{ g^{ij} \partial_{n} \phi \, \partial_{v} \phi - m^{3} \phi^{3} \right\}$$

Source:
$$\int \int \int \int \int \int \partial_{n} \phi \, \partial_{v} \phi \, dv \phi - \frac{1}{2} \int \int \partial_{n} \phi \, \partial_{v} \phi \, dv \phi - m^{3} \phi \, dv \phi$$

$$= \int \int \int \int \int \int \partial_{n} \phi \, dv \, dv \phi \, dv$$

Freview of second success

Eq of motion (I] + m^2) $\phi = 0$ $D = \frac{1}{\sqrt{g}} \partial_{\mu}(g^{-\nu} \nabla_{\mu}) \partial_{\nu}$ $D = \frac{1}{\sqrt{g}} \partial_{\mu}(g^{-\nu} \nabla_{\mu}) \partial_{\nu}(g^{-\nu} \nabla_{\mu}) \partial_{\nu}(g$

Strategy

Dy y V -> 1 V

DV = (0 + 17) V

T ~ (17 + 1 dm 1)

R = dm 13 - 2/12 + 12 17 - 57

Asids: \$\bar{\psi}\$ 89 & \bar{\psi}\$ (2n + Am) \$\bar{\psi}\$ Read Kibble with Fermions without connection on EPFL

- extra belonday.